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import matplotlib.pyplot as plt

[ NON ) Figure 1

def myFunc(n):

r=2.1

tmp = r*(1-n)*n

return tmp 0.5 -
tEnd = 50
popSize = 0.01 0.4 4
t=0
seqTime=[]
seqPopSize=[] 0.3
while t < tEnd: 0.2 1

print(t, popSize)

seqTime.append(t)

seqPopSize.append(popSize) 0.1

t+=1

popSize = myFunc(popSize)

0.0 -

# Draw the dynamics 0 10 20

plt.plot(seqTime, seqPopSize)
plt.show() a€>PQ=n
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import numpy as np
import matplotlib.pyplot as plt

def myFunc(n):
tmp = r*(1-n)*n
return tmp

r=32

tEnd = 50

x=0.01

t=0

seqx =[]

seqy = ]

segx.append(x)

seqy.append(0)

while t <= tEnd:
t+=1
xd = myFunc(x)
segx.append(x)
seqy.append(xd)
seqx.append(xd)
seqy.append(xd)
x =xd

plt.plot(seqgx, seqy, color="red")
xt = np.linspace(0, 1, 100)

xtd = myFunc(xt)

plt.plot(xt, xtd, color="blue")

Xt2=xt
plt.plot(xt, xt2, color="brown")

plt.axis(‘equal’)
plt.show()

Figure 1

Python [C&k2#{EFTE
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import numpy as np
import matplotlib.pyplot as plt

A, Python ICKAEEETHE

return tmp
def myAttractor(rx):
tldle = 2000
tEnd = 100
x=0.1 | NON ) Figure 1
seq =]
for t in range(tldle):
x = myFunc(rx, x)
for t in range(tEnd): 0.9 -
seq.append(x)
x = myFunc(rx, x) 0.8 -
seqList = list(set(seq))
seqListUnique = np.unique(seqList)
return seqListUnique 0.7 H
rStart = 2 0.6 -
rEnd = 3.8
rIntv = 0.002
0.5

rs = np.arange(rStart, rEnd, rIntv)

seqrs =[] 0.4 1
seqConvergence = []

. 0.3 1
for rin rs:
print("r=",1)
tmp = myAttractor(r) 0.2 1
for i in range(len(tmp)): i : : : : i : :
seqrs.append(r) 2.00 2.25 2.50 2.75 3.00 3.25 3.50 3.75

seqConvergence.append(tmp[i])

-— .
plt.scatter(seqrs, seqConvergence, s = 1) “ 6 * ‘*. Q =

plt.show() 39




